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housekeeping

I got nothin’
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Hydrogen atom



Schroedinger

•move much? 
� 1914 Vienna Habilitation, WWI, 1920 Jena, 1920 Stuttgart, 1921 Breslau, 

1921 Zurich, (TB treatment 1923), 1927 Berlin, 1934 Oxford, 1933 Nobel, 
1934 Princeton? nope, Edinburgh? nope, 1936 Graz…nope, 1933 Oxford, 
Ghent, Dublin, 1955 Vienna, 1961 died.

•1925 
� learned of deBroglie’s work 

•1926: 
� January: Quantization as an Eigenvalue Problem: Hydrogen

� February: harmonic oscillator, rigid rotator, diatomic molecules

� May: equivalence with Heisenberg and Stark Effect
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Variable  substitution :
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HOW COOL Is THAT !
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QUANTUM NUMBERS  of the QUANTVM CENTRAL FORCE SOLUTION

n :  Principle Quantum Number
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Remember what  Bohr did ?
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WHAT ABOUT Lx & Ly ?

Glad
you  asked
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and hence  simultaneously known
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OLD TIMEY NOTATION
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WAVE  FUNCTIONS ? not the physics

Probability ...
that's the physics

P( F) dv  = 4*4,0 , g) XC no , g) dv  
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Normalization
:
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Probability of a ground
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